Bits CICTURE

k- Reoey 20

Soluti
o u.‘\'l:“’ls ( S (%o Yo)
€ %o %) £ ereigetio 12, .
% —) \_‘/

X

Th the DBlane i3
= _12 Q(_\c. 1\ = O => WNo WwWora. ﬂ\ﬂo‘L\o’\q ) Q(\ \/\GA”LL‘CCL\

%
:.\-:*o R E’lc:n‘s.\—‘o = Mo Verd. “ = « lhors.
v 4 LU
T ?.‘{s/ e ¥s)
< A N J( ‘n [ veak
A OLLELINES ) A A+ Bt e e et
! = §3‘ an toagedory has
\\ - . cowmponente { & Q-
f.L el

«

ERFP « Ls0 AND g=0 . Ao miotiem
€. 40 *—~4 5 =
LUTLE PICTURE 4

;S = R-x ot B ot (X %) 7 (0N

- -

N AS. & U
[§ < smeﬁu&)

(X ]

2 >
I @ 8) e
a5,2U ©
< AOBES STARS
%- OE e, A

SALBLES /6/
M sabdLE sebbLe
2N |




L/NEAQR\ZATOA)

How Ao wle C,O"l”"@:‘ '('\\Q_ QG Plevoiee
Yo dhe LiITrE PicTORZE 7

- e

&
> 4= Beu
L/INEARITZ =

@ Io{eﬁ%(ga EP/l::b Cx\S\ K"I—{B
@ S\qig*‘ OoQIn. X = X +W % X, T Reg b,

i KZ = x-:_g"'w'l—
& l‘aﬁ\oo se~eg (2 b}

@ %OD()I V:’\ = “\1\ wl“‘?., i \L'l.z- <¢\




